



**Vendor Ranking** 

Page 1 of 1

 Letting:
 03190509
 May 09, 2019 02:00 PM
 Call Order: 008
 Contract: E3S74

 District:
 District 3
 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 120 CALENDAR DAYS

GADSDEN, JACKSON, Project(s): 42212217282 (\*)

Contract Desc: MARIANNA MAINTENANCE - STRIPING WASHINGTON

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SOUTHERN STATES PAVEMENT MARKINGS, LLC	Responsive	Winning bid	\$193,842.20	100.00%
2	EMERALD COAST STRIPING, LLC.	Responsive	Non-Winning Bid	\$203,769.00	105.12%
3	ACME BARRICADES, L.C.	Responsive	Non-Winning Bid	\$394,809.75	203.68%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT

UPON BUDGET AVAILABILITY





#### **Tabulation of Bids**

Page 1 of 3

 Letting:
 03190509
 May 09, 2019
 Call Order:
 008
 Contract:
 E3S74

 District:
 District 3
 Counties:
 DIST/ST-WIDE,
 Fed Aid No:
 N/A

Contract Time: 120 CALENDAR DAYS

GADSDEN, JACKSON, Project(s): 42212217282 (\*)
WASHINGTON

Contract Descr: MARIANNA MAINTENANCE - STRIPING

The Improvements under this Site-Specific Contract consist of the removal and replacement of existing reflective pavement markers and thermoplastic pavement markings on various bridge decks along SR 10 (US 90), SR 2, SR 8, SR 73-S, & SR 277 at locations shown in the Appendices. All work will be performed at night and a Traffic Control Officer will be required for all work zones. All items removed shall be replaced in same night. Mobilization and Maintenance of Traffic shall be incidental to the bid items.

Contractor Experience in Pavement Markings and Form, Number 850-070-06 is required to be submitted with bid.

Line No / Item ID Alternate Item Description	Quantity Units	(1) SOUTHER PAVEMENT MA		(2) EMERAL STRIPIN		(3) ACME BAR	RICADES, L.C.
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 PA	VEMENT ST	RIPING (LARGE N	MACHINE) (LM)				
0005 0711 17 2 THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS: NON-CONFLICTING ONLY	27,269.000 SF	0.80000	21,815.20	2.00000	54,538.00	5.75000	156,796.75
0010 0918712 15 INTEGRATED MULTI-POLYMER PAVEMENT MARKINGS, WHITE, SOLID 6", PROJECT 422122-1-72-82	4.422 GM	16,500.00000	72,963.00	14,000.00000	61,908.00	22,000.00000	97,284.00
0015 0918712 16 INTEGRATED MULTI-POLYMER PAVEMENT MARKINGS, YELLOW, SOLID 6", PROJECT 422122-1-72-82	4.412 GM	16,500.00000	72,798.00	14,000.00000	61,768.00	22,000.00000	97,064.00
0020 0918712 17 INTEGRATED MULTI-POLYMER PAVEMENT MARKINGS, WHITE, 10-30 SKIP 6", PROJECT 422122-1-72-82	2.200 GM	10,000.00000	22,000.00	10,000.00000	22,000.00	15,000.00000	33,000.00
0025 E706 1 42 REFLECTIVE PAVEMENT MARKER(REMOVE AND REPLACE)(CLASS B)	711.000 EA	6.00000	4,266.00	5.00000	3,555.00	15.00000	10,665.00



05/30/2019

**Tabulation of Bids** 

Page 2 of 3

Letting:	03190509	May 09, 2019	Call Order: 008			Contract:	E3S74	
Line No / Ite		ate Quantity Units	(1) SOUTHERN STATES PAVEMENT MARKINGS, LLC		(2) EMERALD COAST STRIPING, LLC.		(3) ACME BARRICADES, L.C.	
() indicates ite	( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 PAVEMENT STRIPING (LARGE MACHINE) (LM)								
	0001 PAVEMENT STRIPING Section Totals: (LARGE MACHINE) (LM)		\$193,842.20		\$203,769.00		\$394,809.75	
	Contract	Grand Totals:		\$193,842.20		\$203,769.00		394,809.75



05/30/2019

# **Tabulation of Bids**

Page 3 of 3

**Letting:** 03190509 May 09, 2019 **Call Order:** 008 **Contract:** E3S74

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.